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¢ Please check that this question paper contains 23 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) I8 FA-9F T 97§ [y 8- ®, @ KT/

(i) 9T % gl ST @ forg sifAard &

(iii)  FHTITT 1 I YT @ R T H G I Uk YT 5T HATE |
(iv) 141 397 & T 97T & I TP & T W ferEw |

General Instructions :

(i) This question paper contains three parts A, B and C.

(it)  Part A is compulsory for all candidates.

(iii) Candidates can attempt only one part of the remaining parts B and C.

(iv)  All parts of the questions should be attempted at one place.

HTT <k
(TSR WA qUT i o forg SEieR)
PART A
(Accounting for Partnership Firms and Companies)

1. 3730 <hl gemra skl ot o 31ef B 2 1

What is meant by private placement of shares ?

2. i, T AT AN TH B § HRIER & S ATHI I HEIM: 5 : 4 : 3 % A |
fafra st 9 | IehT TS AR T 50,000, T 40,000 T T 30,000 off |
o ST TGV HH T HH HI T 6,00,000 HI T hl TRT T FHESH I
TRl & ol @t § forw ergura # femen Stom 2 3g@ AT | 1
P, Q and R were partners in a firm sharing profits in the ratio of
5 : 4 : 3 respectively. Their capitals were ¥ 50,000, ¥ 40,000 and
T 30,000 respectively. State the ratio in which the goodwill of the firm,

amounting to ¥ 6,00,000, will be adjusted in the capital accounts of the

remaining partners on the retirement of Q.
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At what rate interest on calls-in-advance is paid by the company
according to Table A of Companies Act, 1956 ?

4, THH qYT 975 PSR & | 918 Y4 9¢ &’ hl ¥ H T feA™T IrEar 8 |
FAT o HH h HTSICR 99 Hehdl & ? I FdTsy | 1

X and Y are partners. Y wants to admit his son K into business. Can K

become the partner of the firm ? Give reason.

5. U WIS & Y % 0 W AEIRRN TG AT T iR il feham ST
8 ? 1

Why are assets and liabilities revalued at the time of admission of a

partner ?

6.  3H <FAT 1 I Sarst S fefa-foawor d 781 femes Srdl, Afehd w1 o THOH
% THT IR YA fohan ST 2 | 1

Name the liability which is not shown in the Balance Sheet, but paid at
the time of dissolution of the firm.

7. RO 1w Y g ? 1
What is meant by ‘Debenture’ ?

8. TUH I fusel & aui # T 1,00,000 1 3f\d oy Afid foham 3 | wHEy
FqEE H AH Udhd @ 10% ' | FeE™ hl GEAl o qod
T 10,00,000 9T qAT §T&T <IA@ T 1,80,000 <t off | arferemy fafer & wd i

@Tﬁ%n@aﬁmaﬁﬁq,aﬁ@ﬁw%&mﬁw%zéaﬁ%w

& U R Srar 2 | 3

A business earned average profits of ¥ 1,00,000 during the last few years.
The normal rate of return in similar type of business is 10%. The assets
of the business were ¥ 10,00,000 and external liabilities were
T 1,80,000. Calculate the value of goodwill of the firm by super profit

method, if the goodwill is valued at 2% years’ purchase of super profits.
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A e TR | FrteR qofeTer SAfiee B3 | Sl b STER ST
WA Tedaiies R ST 8 | 99 2012 — 13 % TolU, SROTQET T S 6 YTaH

1 ATk UsAH= Sfafseat i | 3

Indian Sports Ltd. issued ¥ 30,000, 10% debentures of ¥ 100 each on
1St

April, 2012. The issue was fully subscribed. According to the terms
interest is payable on half yearly basis. Pass necessary journal entries

for the payment of interest on debentures for the year 2012 — 13.

10. TeWwn fafiees & geu =geuw™ TRR w8 | s, s sifufem %
YA 9AT Yot o HEEHT % YU % faug § 37cd=d &deh & | 1 319, 2010
& HH F T 100 IIF & T 18,00,000, 8% FUGT 1 FHiH foham | eht
e 5% ity W foren S o | 31 9T, 2013 i, Gl SROTdEl B 3EE o
fean e | I TRl w1 Tl S 8 91g YgWYT BT |, ofd: ROl 3§k
Tt fa=or & fore v g wenfuq fomam |
FOH] % e T Evh UsmHan Sfeaseat HifTe g 36 qoa 61 vgae o
Hife St ggwen fafiee g racifeha fkm mn | I8 wm form mm R 6
HFIT o SROTIST o NG = @id | 9IH AT B | 3

Maharana Ltd’s main business is manufacturing of tyres. The company is

very particular about the observation of the provisions of the Companies
Act and SEBI guidelines. On = April, 2010 the company issued
T 18,00,000, 8% debentures of ¥ 100 each. The debentures were
redeemable at a premium of 5%. On 315t March, 2013, all the debentures
were redeemed. Since the manufacturing of tyres results in air pollution,
the company had installed a plant for its effective control.

Pass necessary journal entries for the redemption of debentures. Also
identify the value observed by Maharana Ltd. It is assumed that the
company has adequate balance in Debenture Redemption Reserve

Account.
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Teafa-feemor 31 Wi, 2013
3 3
il
e 1,20,000 | TS 41,000
B 80,000 | &hy 60,000
et 1,00,000 | GTER 44,000
R 60,000 | T 2,00,000
I fau= 40,000 | &3 80,000
ATH-BIH @ 25,000
4,25,000 4,25,000

Iueh Tt =1 #fid 3 3teeh™1 780 feha qen fefaiRad & foe wemfd g3 -

(i) @9 ® g T 59,000; ER T 40,000; ¥ T 2,10,000;
IF T 70,000 qAT THGRI T T 50,000 W A |

(i)  #dT I <F GRT IHeh RO WA H TAFANG hl ST |
TR QAT a2 FidT sl ISf QAT dIr i | 4
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315 March, 2013 :

Balance Sheet as at 315 March 2013

Liabilities Amount | sets Amount
Capitals :
Sita 1,20,000 | Cash 41,000
Geeta 80,000 | Stock 60,000
Rita 1,00,000 | Debtors 44,000
Creditors 60,000 | Building 2,00,000
Bills Payable 40,000 | Plant 80,000
Profit and Loss A/c 25,000
4,25,000 4,25,000

On the above date Sita retired and following were agreed :

(1) Stock was valued at ¥ 59,000; Debtors I 40,000; Building
< 2,10,000; Plant ¥ 70,000 and Creditors ¥ 50,000.

(11) Amount due to Sita will be transferred to Sita’s loan account.
Prepare Revaluation Account and Sita’s Capital Account.

12. & fafHes &1 9SiE T 10,00,000 1 HAfashd Yl § 83 S T 10 TS *
guar 319 H fowse oft | S 9 50,000 3790 % A & fw e smf=a
foFT | 48,000 37=Ti & fTQ 3TregA wH gQ | |t Fr=mn Uikt 7 & T8 don
Bl TS shddl 1,000 3720 bl By, o W T 2 gfq 3131 i s1faq Jremm ufsr &
foeft | 37 ooft o7en WY Sfeq S form T dem Sg § T 9,000 W YU YA G
friftra =t femm |

(i)  HEOT ATAFIE, 1956 i AR VI, HFT 1% ITTHR & s o &afd
foawo § ‘a9 S o1 foRd SRR g SIT@ ?

(i) 3I9IH & fau @rai & AeE ff TR fifv | 4
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rerv B arvy w28 of T 10 each. The company invited applications for the

issue of 50,000 shares. Applications for 48,000 shares were received. All
calls were made and were duly received except the final call of ¥ 2 per

share on 1,000 shares. All these shares were forfeited and later on
re-issued at ¥ 9,000 as fully paid.

) Show how ‘Share Capital’ will appear in the Balance Sheet of
A Ltd. as per Schedule VI, Part I of the Companies Act, 1956.

(i1))  Also prepare ‘Notes to Accounts’ for the same.

13. (%) UsT a1 HIgT Th ®H W THEH & q97 HEW: 5 : 3 % UM § o1y
faufa @ & | 9 i B 1w # 1/7 9FT & U AEier & 9 4 949w
HAd & | T AT fIISE ST 4 : 2 : 180 | UgH e Wigd o o
ITAT <l TUMAT T |

(@) AT qAT HACT Teh BH H HIBIGR & a5 HU: 4 : 1 % I H a9
forfora o 8 | SR foen =l @9 | 1/4 9 % foT g8er & w9 4
vom U, 8 fowen 3 quia: otwen & ww foRam ® | WIEieRi o1 A
ATH TIHTSH AT 1 I | 2+2=4

(a) Rohan and Mohan are partners in a firm sharing profits in the
ratio of 5 : 3 respectively. They admit Bhim as a partner for 1/7
share in the profit. The new profit sharing ratio will be 4 : 2 : 1.

Calculate the sacrificing ratio of Rohan and Mohan.

(b)  Amla and Kamla are partners in a firm sharing profits in the ratio
of 4 : 1 respectively. They admitted Bimla as a new partner for 1/4
share in the profits, which she acquired wholly from Amla.

Determine the new profit sharing ratio of the partners.
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ﬁ“ﬁﬁmﬂmﬁﬂﬂ%ﬁmﬁWWWWIWQaw
fream <t e
I — T 40,000; 9 — T 40,000; TSR — T 30,000

THY — T 50,000; B — T 20,000; THER — T 20,000.
% Tl 1 geaehl H ITYRR Tl oh TOIT ATE9h UeHTH= fafsedf hivie | 4

A Ltd. purchased a running business from B Ltd. for a sum of
T 1,50,000 payable by issue of 10,000 equity shares of ¥ 10 each at a

premium of ¥ 2 per share and balance in cash. The assets and liabilities
taken over were :
Plant — ¥ 40,000; Building — ¥ 40,000; Debtors — ¥ 30,000;

Stock — T 50,000; Furniture — ¥ 20,000; Creditors — T 20,000.

You are required to pass necessary journal entries for the above
transactions in the books of A Ltd.

15. T, 915 Q1 9I€ T BH § AEER 9 | 1 378, 2012 i 3Teh! YSil Shuw:
T 6,00,000; T 4,00,000 TAT T 2,00,000 off | HEEH TE & YELH &
IER a1 T 12,000 Ufd a9 HHIIE qeM e T 1,200 Uid HT8 dad WIH <
fepil & | WIBIGRI I St W 8% JTMHeh SATS WTH o1 Wi (R o | i
&I YSht & 31uTa o faarfora femem Smam o |
31 AT, 2013 ! THTE B a1t a9 1 g A9 T 4,22,400 o1, Sreept faursH
3T St Wl IF H W@ o suet-aus W fen mn | ot e feoqeft o

Tyl fe@ard §U, 3T o fOIY fTaweeh qumisH Jiefte $Hig | 6

X, Y and Z were partners in a firm. On g April, 2012 their capitals stood
as ¥ 6,00,000; ¥ 4,00,000 and < 2,00,000 respectively. As per provisions
of the partnership deed, Y was entitled for commission of ¥ 12,000 p.a.
and X for a salary of ¥ 1,200 per month. Partners were also entitled to
interest on capital @ 8% p.a. Profits will be shared in the ratio of
capitals.

Net profit for the year ended 31.03.2013 was I 4,22,400, which was

distributed equally without taking into consideration the above
provisions. Showing your workings clearly, pass necessary adjustment
entry for the above.
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oI < Y R TR o

e ., 2013 %! 1 e
Teafa-ferewor 31 wr=t, 2013

T T
TR 12,000 | U%g 13,000
o 10,000 | TTeR 8,000
gSh T 10,000
% 30,000 | #ef= 30,000
EC| 20,000 | 9o 20,000
T 15,000 | 9e=cd 6,000
87,000 87,000

1 3THRS, 2013 I, SHHRT o HRUT @ 61 ToJ &1 T8 | BH qA1 @ oh HEITCHI h

He I8 THAMT AT oh @ I ¥ SR 1 SN T § Teh HHGIAH Had

S o ToIU foRam ST@m | TmEid o STIER

() g * gedid fUsd uie aut & fiHd @W b § T b SR
g, S ;2009 W T 10,000; 2010 B ¥ 13,000; 2011 H T 12,000,
2012 " ¥ 15,000 99T 2013 " T 20,000 & |

(i)  UeeH 1 oA T 8,000; AL T T 28,000 AT W HT T 30,000
B3 |

(iii) Hg o T % @ < e < @19 i TUET, 99 2013 6 ATH 6 MEX T
il

(iv) St W 10% a1Neh &€ 8 = fean s |
(v) @ o [sI1geh i ¢ TR gF @I H TAMFING o & ST |

(%) @ % FIouTee 1 T F % A 3R GOt @ qum Hife qen
(@) T % IR fohT MU foreft Teh o h1 Ig=H ShITT | 6
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{ ] )ir Balance Sheet as on 31 March 2013 Was as follows :

Balance Sheet as on 315t March, 2013

Liabilities AmOuRt | 4 sets Amount
Creditors 12,000 | Cash 13,000
Reserves 10,000 | Debtors 8,000
Capitals : Stock 10,000
A 30,000 | Machinery 30,000

B 20,000 | Buildings 20,000

C 15,000 | Patents 6,000

87,000 87,000

On 15t October, 2013, due to illness B died. It was agreed between the
firm and B’s executors that the amount due to B will be used for
construction of a community hall in the village. As per the agreement

1) Goodwill is to be valued at two years’ purchase of the average
profits of previous five years, which were : 2009 — ¥ 10,000;
2010 — T 13,000; 2011 — < 12,000; 2012 — < 15,000 and
2013 — ¥ 20,000.

(ii)) Patents were valued at ¥ 8,000; Machinery at ¥ 28,000 and
Buildings at ¥ 30,000.

(iii)  B’s share of profit till the date of his death will be calculated on the
basis of profit of the year 2013.

(iv) Interest on capital will be provided at 10% p.a.

(v)  Amount due to B’s executors will be transferred to Charity
account.

(a) Prepare B’s capital account to be presented to his executor and

(b) Identify any one value being highlighted in the question.
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mqgﬂklwwm,wwm|3:T315ﬁW?:309ﬁ313Tﬁ9W
FreET RN ATH A2 g8 off 9o T 20 Wid 371 <l safaH A Tl St
A A& TS off | 91G H 37 M H T 70 WA A HI T H T 80 WG W
g fifea e oo e |
o fafies il geaent § ITE THeAl o TolT Tmaeseh Usm=n yfafeear
IS |

(@) ta fdafies 3 T 20 99 & 470 9ar 3N 1, e foima = 3 fa
W o fiftem w e mn o, Sed o form | 39 oA W T 8 ufd e
i fraed Uiyt (T 3 fiftem wfzq) qen = 5 gfa otwr it vom I iy
T YA T T8l BHT | T 5 Ufd 31 <l HAlqH Freqn Ui st A&l
Hit 775 oft | 39 ¥ 235 37T T T 19 Ul 37 & AW W IO T5d &9
o g Tt st foom

ue foafieg it gashl § IWh SHeH & e Stavaes AsHm=n gfafseat
HIT | 4+4=8

HAAT

R fafids 3 T 100 9% % 10,000 THAT ;M H T 4 Ufd 3T & §3 W
fifia & o fotu o1raed stmf=a fope | Tftt Fegam < oft .

ST W — T 20 Ufd 37

JEe W — T 30 Ufd 37

| T AfH =1 | — T 46 i 31
9,000 371 o T 3TTeIgA ITH U T |t STTaIGehi ol ST 1 ITee L fea
T | meft < ufiEd uTe g TE had 400 A HI Do Mg yum ud Af<m
IrEET R AR @ | T ST I Feqd L forn W | Hed fopu gu oo H 4,
300 37T I T 27,000 % YA W qUf Jed YH: it =t fezm m |
HT < JEdenl § 3TTawesh Usim=n gfafseat Sifs | 8
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< & per share. On these shares the first call of ¥ 30 per share was
not received and final call of ¥ 20 per share was not made.
Subsequently these shares were reissued at ¥ 70 per share ¥ 80
paid up.

Pass necessary journal entries for the above transactions in the

books of C Ltd.

(b) L Ltd. forfeited 470 equity shares of ¥ 20 each issues at a premium
of ¥ 3 per share for the non-payment of allotment money of ¥ 8
(including Premium < 3) and first call of ¥ 5 per share. Final call
of ¥ 5 per share was not made. Out of these 235 shares were
reissued at T 19 each fully paid.

Pass necessary journal entries for the above transactions in the

books of LL Litd.

OR

R Ltd. invited applications for issuing 10,000 equity shares of ¥ 100 each

at a discount of ¥ 4 per share. The amount was payable as follows :
On application — ¥ 20 per share
On allotment — ¥ 30 per share
On first and final call — ¥ 46 per share
Applications were received for 9,000 shares and allotment was made to

all the applicants. All amounts due were received except the first and

final call on 400 shares. These shares were forfeited. Out of the forfeited
shares, 300 shares were reissued at a payment of ¥ 27,000 fully paid up.

Pass necessary journal entries in the books of the company.
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e ol Sgd et
wgﬁmﬁwﬁm@aa@ﬁmaquaaﬁaﬁagﬁﬁam
6 3 T M T T R G ¢ <1 | 31 °HIE, 2013 I TeH IR el w1

Tedrfa-foeor e o
Tt 3R et ot feufa-faevor 31 v, 2013 =t
3 3
Tfew o & foTg s 40,000 | Uhg 1,00,000
i afagfd Ffa 56,000 | fafay Ter 8,00,000
A T 30,000 | ¥i<h 2,00,000
R 3,00,000 | G 3,86,000
ECil IEESIERCIG] 40,000
T 5,00,000
Sl 6,00,000 | 11,00,000
15,26,000 15,26,000
T @1 fEfRad wdl W wH § A fea e
(i) T IO S o TR o ®9 H T 4,00,000 TG, Aok 98 BN <h
forw =18 off wivr 27 & sreme o |

(i)  TewI, ST qUT TET % S" 74T 1y fauTeE SIguTd 3: 2 : 186 |
(iii) e afagfd &1 T 30,000 T gET AT |

(iv) ¥ 40,000 3 TR = gFd FT 6 foTg feiflad T o |

(v) R I T 20,000 I ¥ YA FoRaT =1 o |

(vi) 37ed o331 &l T 12,000 b AT 2 |

(vil) STICATRIEG <adT % fu & 20,000 9eH fpu 7w & |

(viii) WH ! TR T Jearehd T 1,80,000 T foham T 2 |

YT GTAT, TTSERI o Yol @Td a1 5 BH o1 JREe fefa-faato dam

Hifo | Ty & et wh gou il qgaE FHINT S AEER 9uS 6 g

HET =R 9 |

YT
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shid ¥ | d dg 5[3@@3%3?%6&%1?@@?{%61@1@%@8“
Id: 38 HIG hl &< Hich 3T [Ishd T ITH Y- bl Teh UA.S{.37. i
TE H o w fofy foen | 9w wShen. weh & # wgwer feEm % fau
FIRIY o S § o off | 31 S, 2014 w1 3R feafa-faewo Frafafaa
aq1 :

Terfa-feremor 31 ==Y, 2014

T T
TGN 65,000 | 9fF 1,20,000
29 oo 35,000 | WY 65,000
g - &t 10,000
T 75,000 | Thel 25,000
| 75,000 | TTER 20,000
Thg 10,000
2,50,000 2,50,000

T A TSR 1 PTAE 15% e T Tohan aen w9 3 < o= &1 U 9§
fopa | wPaferel | el 39 TR B : YW ¥ 20% HA; A " T 35,000;
g ¥ 25% Y AT ¢IQN & T 12,500 | FEeh = T 1,750 1 A W
3 T |

el @, WEER! % Yt @id U7 S @il AR T | @TEeR! g wa
! grfva fopell T gou 1 Tga ot il |
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limbs. On 1°* April, 2013 they admitted Gama, a good friend of Beta into

the partnership. Gama lost his one hand in an accident and Alfa and

Beta decided to give one artificial hand free of cost to Gama. The Balance

Sheet of Alfa and Beta as at 315 March, 2013 was as follows :

Balance Sheet of Alfa and Beta as at 315t March, 2013

A t A t
Liabilities T | Assets e
Provision for Doubtful 40,000 | Cash 1,00,000
Debts
Workmen’s 56,000 | Sundry Debtors 8,00,000
Compensation Fund ’ undry e
Outstanding Expenses 30,000 | Stock 2,00,000
Creditors 3,00,000 | Machinery 3,86,000
Capitals : Profit and Loss A/c 40,000
Alfa 5,00,000
Beta 6,00,000 | 11,00,000
15,26,000 15,26,000

Gama was admitted in the firm on the following terms :

1) Gama will bring in ¥ 4,00,000 as his share of capital, but he was

unable to bring any amount for goodwill.

(i1))  The new profit sharing ratio between Alfa, Beta and Gama will be

3:2:1.

(ii1)

(iv)

To write off bad debts amounted to ¥ 40,000.

(v)  Creditors were paid ¥ 20,000 more.

Regee Visit www ncer hel p. com Forisil |

Claim on account of workmen compensation was I 30,000.
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(vi1) ] zu,uuu pe provided for an unforeseen liability.

(viii)) Goodwill of the firm was valued at ¥ 1,80,000.

Prepare Revaluation Account, Capital Accounts of Partners and the
opening Balance Sheet of the new firm. Also identify any one value which
the partners wanted to communicate to the society.

OR

Ram and Shyam were partners in a firm sharing profits in the ratio of
2 : 3 respectively. They become old and no one was there to look after
their business. Therefore, they decided to dissolve the business and
donate the amount available to an NGO who are providing service for
growing trees in urban areas to control pollution. On 315! January, 2014
their Balance Sheet was as follows :

Balance Sheet as on 315t J anuary, 2014
Liabilities Am;unt Assets Am;unt
Creditors 65,000 | Land 1,20,000
Bills Payable 35,000 | Machinery 65,000
Capitals : Goodwill 10,000

Ram 75,000 | Stock 25,000
Shyam 75,000 | Debtors 20,000
Cash 10,000

2,50,000 2,50,000

Ram paid the creditors at a discount of 15% and Shyam paid Bills
Payable in full. Assets realised as follows : Land at 20% less; Machinery
at ¥ 35,000; Stock at 25% less and Debtors at ¥ 12,500. Expenses on

realisation ¥ 1,750 were paid by Shyam.

Prepare Realisation Account, Partners’ Capital Accounts and Bank
Account. Also identify any one value which the partners communicated to
the society.
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PART B

(Financial Statements Analysis)

19. Uhs Y8 1 T A 8 ? 1
What is meant by ‘Cash flow’ ?
20. fochia faawon & foavcwor i foreft wer =i 1 3g@ Fifsu | 1

State any one limitation of analysis of financial statements.

21. U Higd 9dqsU foh Uehg YaT8 faemul G¥R od THF Tk AT o foshar bl
TR0 & T & fT T 50,000 % 9% s fifia s &1 = gftomy g
— Uh3S I Iqdig, digdig AT his T8 Tal ? 1

State with reason whether the issue of 9% debentures to a vendor for the
purchase of machinery of ¥ 50,000 will result in inflow, outflow or no

flow of cash while preparing Cash Flow Statement.

22. & fufEm, 1956 I dfEnfyd @Reft VI 9W 1% IHER HE

fedrfa-foeto # f=faRea ¢ fora g 3fidesh o =i quils S : 3
(i)  CreeeTelia o
(i) SIUR gIamd

(iii) o o fOTU STRISE
(iv)  Sfavfa Shifem a=
(v) UdH

~

(vi) 3I9IRld 3T
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sheet of a company as per rev1sed Schedule VI Part I of
the Companies Act, 1956 :

) Long Term borrowings

(i)  Trade Payables

(1i1) Provision for tax

(iv)  Securities Premium Reserve
(v)  Patents

(vi)  Accrued Incomes

23. Tfafad @ ‘A%a @9 U den FrRiEfA S TEd AU ohl TOMT

I 4
ahr (F)

e ¥ A 30,00,000

T ¥ 3T I AT 20,00,000

=], FedfeEt 6,00,000

=Te] Ty 2,00,000

YT TR S 5,00,000

From the following calculate the ‘Gross Profit Ratio’ and ‘Working
Capital Turnover Ratio’ :

Amount ()
Revenue from operations 30,00,000
Cost of Revenue from operations 20,00,000
Current Assets 6,00,000
Current Liabilities 2,00,000
Paid up share capital 5,00,000
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a0 | IGRA HHfAIRgd gaq1 o SR W, JoHTcHs ATH-8TH e dar

HIT

e

31.03.2013
T

31.03.2012
T

=T 9 AT

48,00,000

30,00,000

HUAT AT =g

22,00,000

18,00,000

I

2,00,000

4,00,000

40%

40%

From the following extract of the Statement of Profit and Loss for the

years ended 315% March, 2012 and 2013 of XYZ Ltd., prepare a

Comparative Statement of Profit and Loss :

Particulars

31.03.2013
T

31.03.2012
T

Revenue from operations

48,00,000

30,00,000

Employees’ Benefit Expenses

22,00,000

18,00,000

Other Expenses

2,00,000

4,00,000

Tax Rate

40%

40%
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qre 31.3.2013 31.3.2012
[EELY e T T
I — THAT 9T AT :
1. | stwremd fAfer:
(1) T gt 6,30,000 5,60,000
(9) |99 T AT 1 3,08,000 1,82,000
2. | =ITe] g ¢
ST SIdaTd 2,80,000 1,82,000
Bl 12,18,000 9,24,000
II - gfeera it
1. | oT<ret ufEvg it
T g T
I 3,92,000 2,80,000
2. %ITFLWﬁ'HTQﬁ?ﬁ':
(31) Ty 98,000 1,40,000
(9) =T STt 6,30,000 4,20,000
(|) g qdT UhS oo 98,000 84,000
Bl 12,18,000 9,24,000
@Al & AeH
e T 1
Al 31.3.2013 | 31.3.2012
T T
g U i
e (em-a R 5 3) 3,08,000 | 1,82,000
STaRE T :

1)
&= |
(i1)

9 o QI A i BT ekt T 28,000 o |
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Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Fund :
(a) Share Capital 6,30,000 5,60,000
(b) Reserves and Surplus 1 3,08,000 1,82,000
2. | Current Liabilities :
Trade Payables 2,80,000 1,82,000
Total 12,18,000 9,24,000
II - Assets :
1. | Non-Current Assets :
Fixed Assets :
Plant 3,92,000 2,80,000
2. | Current Assets :
(a) Inventories 98,000 1,40,000
(b) Trade Receivables 6,30,000 4,20,000
(c) Cash and Cash Equivalents 98,000 84,000
Total 12,18,000 9,24,000
Notes to Accounts
Note No. 1
Particulars 31.3.2013 | 31.3.2012
3T <
gs:;zze(%ZEicselﬁp Sl’:.lastement of Profit and Loss) 3,08,000 | 1,82,000

Additional Information :

(1) An old machinery having book value of ¥ 42,000 was sold for
T 56,000.

(i1)  Depreciation provided on machinery during the year was ¥ 28,000.
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PART C

(Computerised Accounting)

19. HHRAHT F&1 g ? 1

What is normalisation ?

20. 3Trerferd w@TR Jurel! & TRt T @y 1 3g@ HifT | 1

State any one advantage of Computerised Accounting System.

21. Tl g fafemt =1 @ifsre fom@ sremt (F/ekl) Icqat <t o1 Tehel 2 | 1

Give any two ways in which a query can be created.

22,  ANTR{T @I YUl o STTHTUAT (Thalfaiferd!) qen favasiaar sieon
TSy | 3

Explain Scalability and Reliability features of Computerised Accounting
System.

23. IAThSI-IMUR (SREH) & ATALI o ®9 H AR, Thfqal, Afdeedi a
T (HhIW) i AHATSY | 4

Explain Tables, Forms, Reports and Macros as database objects.

LN

24. U T 6l TERIAT & HHehI I AT A ITel SHeHI 1 Ig@ I |

State the steps to validate data with a formula.
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(@) ﬁHlﬂl{gd @ﬂdlﬁquﬂW%WﬂﬁﬁW%ﬂlﬁﬁW
i -
TS 9a4 T 25,000 Toh 20% i G & qAT 36 HW 25% 1 @ H | 2+4=6

(a) Name and explain the function of spreadsheet which calculates the
cumulative interest paid between two periods.

(b)  Calculate the formula from the following information on Excel for
computing House Rent Allowance :

Basic salary upto ¥ 25,000 at 20% and above it at 25%.
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